Date: Friday 5™ January 2021

Learning Objective:

e To practise adding money.

Problem Solve:

Mo uses a part-whole model to add money,

€ _ond___p+E&E__and___p

Thereis £____ and 105p.

105p= € and _p E l

Altogether there is £ and p.
Use Mo's method to find the total of:
€10 and 35p and £4 and 25p €10 and 65p and £9 and 45p

2.
What calculation does the bar model show?
Find the total amount of money.
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3.

A book costs £5 and 99p.

A magazine costs £1and 75p.

How much do the book and magazine cost altogether?

5.
Dora bought these muffins.
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Muffins cost 35p each.
How much did Dora spend?

Tommy bought three times as many
muffins as Dora.

How many muffins did Tommy buy?
How much money did Tommy spend on
muffins?

How much more money did Tommy
spend than Dora?
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Rosle has £5
Has she got enough money 1o buy a car
and two apples?
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What combmations of iterns could Rosie
buy with £57




